
   DESCRIPTIONID. QTY.

1

4

2 3

1dleihsdniW1

2

3

5

4

6

7
8

Right metal support

Left metal support

M5 Silemblock

M6x15 ISO 7380 Allen screw

M5x16 ISO 7380 Allen screw

M5x0,5 nylon washer
Ø12,7x3,5 silicone delimiter

1

1

4

2

4

4
1

9 M5 ISO 7380 screw cap 4

 MOUNTING INSTRUCTIONS 

WINDSHIELD FOR 

HONDA CB500F Ref.: 6437

 Original screws

2

8

4

5

5

3

4

4

6

7

1

7

7 6

6

7

6

5

9

9

9

9

Shop for quality Puig products on our website. Buy quality motorcycle windshields & fairings in our online store.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html



